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E Multiple Choice Questions

1. The solubihty of Agl in Nal solution is less than that in pure water because
A. Agl forms complex with Nal
B. of common ion effect
C. solubility product of Agl less
D. the temperature of the solution decreases
Answer

2. Hydrogen ion concentration in mol/L in a solution of pH = 5.4 will be
A. 3.98 x 10°
B. 3.88 x 10°
C. 3.68 x 10°

D. 3.98 x 10°
Answer

3. XY, dissociated as XY,(g) =XY(g) + Y (g) When the initial pressure of XY, is 600 mm Hg, the total

equilibrium pressure is 800 mm Hg. Calculate K for the reaction assuming that the volume of the
system remains unchanged.
A. 50
B. 100
C. 166.6
D. 400.0
Answer
4. For the following equilibrium, N,0, 22NO, in the gaseous phase, NO, is 50% of the total volume
when equilibrium is set up. Hence, per cent of dissociation of N,0O, is
A. 50%
B. 25%
C. 66.66%
D. 33.33%
Answer

5. Of the given anions, the strongest Bronsted base is

A. CIO
B. ClO3-

C. Clo2-
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C. Both (a) and (b)
D. None of the above

Answer

7. The bond order of H2- ion is 12. If it has 2 bonding electron, how many antibonding electrons it

will have?
A 4
B. 3
C. 2
D. 1

Answer

8. Ni** ion (Z= 28) contains unpaired electrons
Al
B. 2
C. 3
D. 5

Answer

lodide P, Asl, Sbl,

Bond angle 102 100°2! 99°

A. due to small size of P

B. due to more bp-bp repulsion in Pl
C. due to less electronegativity of P
D. None of the above

Answer

10. The radius of H-atom in its ground state is 0.58A .The radius of, ,Li** ithe similar state is

A. 0.1777 A

B. 0.706 A

C. 1.06 A

D. 0.058 A
Answer

11. Which pair of elements has same chemical properties?
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Answer
Heat formation of H,0 is -188 kJ/ mol and H,0, is 286 kJ/mol. The enthalpy change for the
reaction; 2H,0, » 2H,0 + O, is
A. 196 k]
B. -196 kJ
C. 984 kJ
D. -984 kJ
Answer
When 1 mole of a gas is heated at constant volume, temperature is raised from 298 K to 308 K.
Heat supplied to the gas is 500J. Then, which statement is correct?
A. q=-W =500 : AE= 0
B. g= W =500): AE= 0
C. g = AE=500], W= 0
D. AE = 0; g= W = -500J
Answer

The reaction, 10FeSO, + 2KMnO, + 8H,S0O, » 2MnSO, + 5Fe(S0O,); + K,SO, + 8H,0 is an example

of reaction of

A. disproportionation

B. intermolecular redox

C. intramolecular redox

D. None of these
Answer
The compound that can work both as an oxidising as well as reducing agent is

A. KMnO,

B. H,0,

C. Fe,(S0,),

D. K,Cr,0,
Answer
Standard electrode potential data are useful for understanding the suitability of an oxidant in a
redox titration. Some half cell reactions and their standard potentials are given below
MnO4-(aq) + 8H+(agq) + 5e- - Mn2+4+(aq) + 4H20 (I): E°= 1.51VCr2072-
(aq) + 14H++ be_ -2Cr3+ + 7H20 (h: E°= 1.38VFe3+(aq) + e-
- Fe2+(aq); E°=0.77VCI2(g) + 2e- » 2Cl-(aq); E°=1.40V

Identify the incorrect statement regarding the quantitative estimation of gaseous Fe(NO,),.

A. MnO4- can be used in aqueous HCI
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C. MnO4-can be used in aqueous H,SO,
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D. Cr,072- can be used in aqueous H,SO,

Answer

. In Zeigler Natta polymerisation of ethylene, the active species is
A. AICI,

B. EtAl

C. CH,CH,

D. Ti**
Answer
. The number of possible alkynes with molecular formula C;H; is
Al
B. 3
C.5
D. 8
Answer

. Which of the following orders is not correct regarding the -/ effect of the substituents?
A. —SR < —0OR <—0"R,
B. —N*R, < —OR<—F
C. —I< —Cl <—Br < —F
D. —N'R;<—0"R, <—0OR
Answer

. Which of the following types of reaction occurs when a substituent has got a double bond with

evenly distributed n-electron cloud?

>

. Electrophilic addition
B. Nucleophilic addition
C. Electrophilic substitution
D. Nucleophilic substitution
Answer

. How many delocalised n-electrons are there in the following compound?

AR
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22. Which of the following is an anti-knocking compound?
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B. LTC
C. Freon
D. Gasoline
Answer

23. A compound contains two dissimilar asymmetric C-atoms. The number of optical isomers is
Al
B. 2
C. 4
D. 8

Answer

24, Which of the following is the strongest nucleophile?
A. OH
B. CH,O
C. CH,S

D. C,H,O
Answer
25. The incorrect statements among the following is
A. the first ionisation potential of Al is less than the first ionisation potential of Mg
B. the second ionsiation potential of Mg is lower than the second ionsiation potential of
Na
C. the first ionisation potential of Na is less than the first ionisation potential of Mg
D. the third ionisation potential of Mg is greater than the third ionisation potential of Al
Answer
26. When the sample of copper with zinc impurity is to be purified by electrolysis, the appropriate

electrodes are

Anode Cathode
Pure zinc pure copper
Anode Cathode
impure zinc pure copper
Anode Cathode
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Anouc

catnoue

impure sample

pure copper

Answer

Which one of the following arrangements represents the correct order of electron gain enthalpy

(with negative sign) of the given atomic species?
A. Cl <F <S <CO
B. O <S <F <(CI
C. S <0 <Cl <F
D. F <Cl <O <S

Answer

Acidified solution of chromic acid on treatment with H,0, yields

A. CrO; + H,0 + O,
B. Cr,0, + H,0 + O,
C. CrO,s + H,0
D. H,Cr,0, + H,0 + 0O,
Answer
Bleaching action of bleaching powder is due to
A. Cl
B. O
C. Ca
D. Cl,

Answer
Which of the following is an alum?

A. Na-AlO,

B. Na,S0,-Al,(S0,);-24H,0

C. KCI-MgCl,-6H,0

D. FeSO, *(NH,),S0,-6H,0
Answer

Sodium thiosulphate is used in photography

A. as AgBr grain is reduced to non-metallic silve

B. to convert metallic silver into silver salt

C. to remove reduced silver

D. to remove undecomposed AgBr in the form of Na;[Ag(S,0;),] (a complex salt)

Answer
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Answer

A 0.001 molal solution of [Pt(NH;),Cl,] in water had a freezing point depression of 0.0054°C. If K;
for water is 1.80, the correct formulation of the above molecules is

A. [Pt(NH,),Cl;]CI

B. [Pt(NH;),CL,ICl,

C. [Pt(NH,),ClI]ICl,

D. [Pt(NH,),Cl,]
Answer
If M is molecular weight of solvent, K, is molal elevation constant, T, is its boling point p° is its
vapour pressure at temperature T and p, is vapour pressure of its solution having a non- volatile

solute at T K, then
A. p°-psp°= ATbKbxM
B. p°-psp°®=KbATbxM
C. p°-psp°=KbATbxM1000
D. p°-psp°=ATbKbxM1000
Answer
Which of the following statements is correct for Tyndall effect?
A. Scattering and polarising of light by small suspended particles is called Tyndall effect
B. Tyndall effect of colloidial particles is due to dispersion of light
C. Tyndall effect is due to refraction of light
D. Tyndall effect is zig-zag motion of suspended particles.

Answer
Calculate the ionic radius of a Cs* ion, assuming that the cell edge lenght for CsCl is 0.4123 nm

and that the ionic radius of a Cl" ion is 0.181 nm

A o1 70C
TG oo
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The pair of molecules forming strongest hydrogen bonds are
A. HCOOH and CH,COOH

B. CH;COOH and CHCI,

C. H,0 and H,

D. SiF, and SiH,
Answer

Which of the following reasonating structures is not correct for
A :6=C=6:

_. +

B. Q—C==0:

C. 2650—(:3::_

6 C=0¢

D. WL
Answer

Which of the following represents the correct order of the acidity in the given compound?
A. CICH,COOH < BrCH,COOH< CH;COOH < FCH,COOH
B. CH,COOH < BrCH,COOH < CICH,COOH < FCH,COOH
C. FCH,COOH < CICH,COO0OH < BrCH,COOH < CH,COOH
D. CH,COOH < CICH,COOH < BrCH,COOH < CH,;COOH
Answer
What will be the major product when 2-amino propane is treated with nitrous acid?
A. Propane-2-ol
B. Cyclopropene
C. Propanol
D. 2-rntropropane
Answer

Wat will be the final product of following reaction sequence?
NH,

NaNO,  Cup(CN),  H,OH"
wHA T T

CH,—NH,

CH,COOH
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COOH

D.
Answer

Three of the following four reactions are due to one similar feature of carbonyl compounds, while

the fourth one is different.Which one is fourth?
A. Haloform reaction
B. Aldol condensation
C. Knoevenagel reaction
D. witting reaction

Answer

The two forms of D-glucopyranose obtained from the solution of D-glucose are called

A. enantomer
B. epimer
C. anomer
D. isomer
Answer
Which type of polymeris the Buna-S-rubber?
A. Addition polymer
B. Condensation polymer
C. Copolymer
D. None of the above
Answer
The IUPAC name of the following compound is
HOCH,-CH,-CO-CH(CHs),

A. 2-methyl-5-hydroxy-3-pentane
B. 4-methyl-3-oxo-1-pentanol
C. 1-hydroxy-4-methyl-3-pentanone
D. 3-keto-hexan-1-ol

Answer

Which one of the following will most readily be dehydrated in acidic medium?

A. CH;—CO—CH,—CH(OH)—CH,

B. CH,—CHOH—CH,—CH,—CH,

C. CH,—COCHOH—CH,—CH,

D _CH __Co_CcH __CH __cHOoH__CH
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C. C,H,OMgBr
D. (C,H.),Pb

Answer

48. In a Cannizzaro reaction, the intermediate that will be least hydride donor is

H
@\O—
OH
A.
H
ot
B.

H
C MeOr
: H
@o‘
I
O

49. In the reaction, CHCl; + 40H -» HCOO™ + 3CI" 4+ 2H,0 the intermediate species formed is/ are

D.

Answer

A. CCl,
B. CCI3-
C. Both (a) and (b)
D. None of the above
Answer

50. When Lunar caustic reacts with acetylene gas, it yields
A. Ag,0
B. AgCOOH
C. Ag,G,
D. Ag

Answer
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